‘) ) E
: 56= 7x B 48= 6x %
| se0= 7x_30 = 6x_%0
5600= 7x_200 4800= 6x 300
56 000= 7x_3000 48000= 6x_R000
g) - h)
64= 8x_% 20k 2
640= 8x_20C 720= 9x R0 ‘
6400= 8x_300 7200= 9x_300 1
84000= 8x_3000 72000= 9x_R00 |
PARADA PARA CALCULAR
5. Qual é o produto?
* Sequéncia1
a)2x7=_{4 b)4x7= A3 c)8x7=_56
d)4x9=36 e)6x9=_5Y f5xe= 45
g)5x8= 40 h)4x8= D& )3x8=_2q
p7x7=_19 KWw3ax7=a1 nex7=4d
m)oxs=_8] n)8x9= 7T 0)7x9= 63
p)exs=64 Qox8=_FL n7x8=_56
s)6x5=90 9ex6=_18 u10x5=_50
= Sequéncia 2
a)45-9=_5 b)72+9=_3 c)36-9=_4
d)56-8=_F e)40=8=_ f24-g=_3
g)d9+7=_ T h)14+7= & )28-7=_4
pa2+7=_k _ Kes-7=_19 nse=7=_%
m)30<6=_2 n)54-6= 0)48+6=_%
P)63<9=_ 3~ q)81-9=_1 r54+9=_G
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